Sr Questions Answers Choice
A S
P S . B. S
| 5 .
1 s S (S 05330 Sl (S usiser C. Sk sl goes

D. Gl st Sl

S uss3

S eSS

W Se A xS
W o S

2 = Ui oali) Liand 035 s 8 (e S1sa el

s S
s
[EN

z

€ o

3 S Uaa% 0558 oy shale SR S Jl i
4 e G Cuald (Sl e o (e ) sl S ee-
5 = U LS il (e o) alite K S Lalgoli (S o
6 RGP CHIN PG PG ST VR PRSP

7 éd.lstx);\J)LPL:JLANHSJ\;ié&n)L

A

B.

C.

D.

A

B.

C.

D.

A

B.

C.

D.

A

B.

C.

D.

A

B.

C.

D.

A

B.

C.

D.

A e O
G5 36 Al 6 523 1S oy B. e b
8 = B0 e g Bl o A C. e S A
D. Ut Sl sa 0k
A Bl el
B. <k
C. o
D

A

B

C

D

A

B

C

D

A

B

C

D

A

B

C

D

A

B

C

D

A

B

C

D.

e S
L J O o iy
cdbe s iy
Ll gl o oy

9 o B 5 s eal) G (S QS B S S5 (e sa ) S e

10 =l 050 18 (SHA b

LRI s (RS

RET L P T P B
LSS sk e s S
NET S~ Py

1 YL U g K DU PR PR W S P 3 PRI S PO

P NI W
_&é}xuﬂdcuji
55 i g s
LSS o e
cligey gl

12 —lnois S oo S dh do S see-

d ol
gl e
PSS e o
S L IV

13 = U 50 Sl gila

.39 Jin

49 e S
.59 e (i
.29 e

14 d\i_,fuaujﬁlsdgﬁé}éﬁ‘%

NS YR ESEE WEN
el e g
dbedsy w e
Jus o e

15 =) o S o



16

17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

32

33

= By S 15 W o )il s )2 1S alasid (33 (S ao e 50 8l S e

& e S S Sl Sle Op b de 2 A e D5 ol S e

=) G (S J g 8 ) (S Laigpli e (S e o 2 puas-

= s S U 1 018 n KB S nae e 5% ) S e

U g 58 i see Ll oo 0SS g sbale [0 1S el

o Bda Sy s sl S S Gabad (Mg S law s 550 -

=l (B s (S g e slme) S s )50 el S et

e sl i (S (KA b Sl (S s (S

S B LS i e o) S O Y

=0 0 Cose A s O se U S eliae) S s

=B ) 8 SE e gl e il

2 B i (i G as e )5 0l S et

= U oalyy s 035 sl 8 e (SIsa ade

5 (e s Sl

= s o3y Lians ()5 ) B (e (Sl 53 i

= U U o 51 1S L g g S (el sila;

U g JSe rmn 208 1S Lad 1S m gl g S 3830 (055 s) 38 (e 33 S il

= B S Uy 58 e g5 Sy e Clals GH8 G ap e D53 o) S el

oo

@ >

ODOU> DO®

OW» DOUP 00w

owp

Om» UO®

WES Pt

NN
it

= al
= ) ue e

U5 e A S S

e sl

e sl alas

Solsand

C. el

Cow» CDOwP

COU» DO®

SolsA s
S
SV

S ossH

g s A usis
,-"\u:\] f:m‘:i

Py B g
a5y (e IS

S ussH
=l 005 \S Ui

walaie) 2 A

= S

PEVER WEEN RPN



34

35

A e e Ly 9

= B il (s e (e )33 ) S e



